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A possible value of tan(%sinfl @) is :
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cosec [2cot_1(5) + cos~! (

(SN

)] is equal to :
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then the value of cos( e ) is :

a+b

2

I-y
Q -
1-y

YVY

®
©O1-¢
(D)

2

0 JEE Main 2021 (Online) 26th February Evening Shift
MCQ (Single Correct Answer)

If0<a,b<1, and tan la+tan b= %, then the value of

(a+0b)— (azzbz) + (a3-3'_b3) — (G4Ib4) +..... is :
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Given that the inverse trigonometric functions take principal values only. Then, the number of real

values of x which satisfy

sin~! (3—5“") +sin™! (4%) = sin" 'z is equal to :
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The sum of possible values of x for
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If cot_1(a) =cot "2+cot™ "8 +cot™ 118 +cot™ 132 +...... upto 100 terms, then a is :
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The number of solutions of the equation

sin ! [m2 + é] + cos™! [:1:2 - %] = z2, for x&[—1, 1], and [x] denotes the greatest integer less than

orequal to x, is :
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The number of real roots of the equation tan™"v/z(z + 1) + sin vz’ +z + 1= 718!
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The value of tan(2tan_1 ( ) + sin~! (%)) is equal to :
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_ —1 -1, /1= .
Let f(z) = cos (2tan sm(cot T)) 0<x<1.Then:

O (1-2)*f'(z) —2(f(x))* =0
O (1 +2)°f(=) +2(f(z))*=0
© (1-2)’f'(z) +2(5())* = 0
© (1+2)*f'(z) —2(f(z))* =0
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If E tan 1 1 P, then the value of tan p is :
r=1
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If (sin"'z)? — (cos )2 = a; 0 <x < 1, a # 0, then the value of 2x2 — 1 is :
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Let M and m respectively be the maximum and minimum values of the function

T

f(x) = tan—1 (sin x + cos x) in [0, E] , then the value of tan(M — m) is equal to :
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cos 1 (cos(—5)) + sin ' (sin(6)) — tan!(tan(12)) is equal to :

(The inverse trigonometric functions take the principal values)
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